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WC Herren 1,6

1,5 = 2,4
1,7 x 1,4 = 2,38
1,065 x 1,3 = 11,3845 6,1645
WC Damen 1,5 x 0,9 = 1,35
1,5 % 1,28 = 1,875
1,5 % 0,95 = 1,425 4,865
Umkleide 1 3,47 x 2,245 = 7,7902
1,2 x 0,6 = 0,72 8,51015
Umkleide 2 3,47 x 2,24 = 7,7728
-1,28 % 0,6 = =0,768 7,0048
Garage 6,545 + 6,8
X 0,5
X 5 = 33,363
-5 x 0,115 = =0,575 32,7875
Ballsaal 23,64 x 17,38 = 410,86 410,863
1.0bergeschoss
Buhne 6;545 -+ 7,285
P4 0,5
e 11,4 = 78,608 78,0606
Zusammen 1421,18 mZ2

Aufgestellt:
Berlin, den 1.2.93
geandert 16.2.18S3
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